§3.3 - Volumes by Cylindrical Shells

Suppose we wish Yo compute the volume of +the solid

of revolubion below.
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but wnow A) s the Sur{—a«:e ou—eo 0{: o 4'3?“’“"(
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& Let R dencte the Cegion between Y= 0 and
5= —‘x_ g'l‘o\m Xx=1 4+ X=2. Fad +he Volume on the
solid  obtained 1:3 r‘o+0d-mj R obout +he j-aXis.
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Ex: Sel wp the in+era( +Hhat gives  the Volume of

+he solid obtained BJ ro'LovL‘.nﬂ each reﬁicm about

Hoe given axis.
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Solution :
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(b) Regioﬂ3 Bounded bedueen j=\l; and \‘J:’;S'

ﬁXis: 'j-—a.xzs.
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(c) Regiow: Bounded bedween j=\l7 and \‘j""%’
Axis: X=-X
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(d) Regioﬂi Bounded belween j=& and \‘j"‘%’
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(e) Rﬁﬂ Bounded between j=J; and H=%

Axis: X-0Xis (lowl' do i+ with Sh&“s!)

Solution: e 3e+ oo lemdriCa.L shell ]COP each 56[0,33,



so Wwe'll be an-l-ejra-hnj with respect to Y.
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Summac\\ for c,-.{lmdrzc,a.\ shells
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Reuolv;nﬂ around vertical oxis ? Use )cuncj'ions of X.

Reuolvmj around hocizontad axis 7 Use qu.nc:l'ions of _j_




